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Time allowed : %2 Hour)

[Siftreperey 3t : 30
[Maximum Marks : 30

A (i) wiwwer st Eod Tl dEerd
Note : All Questions are compulsory and each question is of 1 mark.
(i)  qF et F swere R # Refer o it srar et AT
Only English version is valid in case of difference in both the languages.

1. e ey de A amee w € A floating point number is said to be
o : normalized if
(a) the most significant digit of the
aﬂvlhr i mantissa is zero. '
® e ﬁmﬁ ! (b) the most significant digit of the
(b) WS = T SR | exponent is zero.
. (c) the most significant digit of the
(c)  SrUiker 5 e 3ie 9 T A | mantissa is non-zero.
(d) witvare @ T St I A (d) the most significant digit of the
| exponent is non-zero.
2. WEmRw SRR ey 2. F;e:ddy pin of a microprocessor is
) ) o
(@ I T ¥ frd fr smen W (@) to indicate that the micro-
AR T FE F R et processor is ready to receive
_ inputs. '
(b) T = ¥ 3 fF e W (b) to indicate that the micro-
. R R S dan processor is ready to give
| outputs.
) v feafr afafme FA F R (¢) tointroduce wait states.
(d) oo P TR 3 fd @ to provide direct memory
access.

P .T.O.
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3. mwrﬂqqm
(@) Ui femifém
(b) i femifen
(c) iters Remife
(@ TR E | Bl

4. ¥ MOVC, M ¥ wgsa w3f oig
T E?
(a) v (b) s
© s @ TE

5. CMA §&d & T Ui & 8T ASH
%nm%mﬁﬁr%mmm
T & ?

(a A5H ®) 5AH
© AAH = (@ S55H
6. T fufy st weow oFRY IR ST @
e ¥
(@ CY ®) Z
c) P (d) AC
A mmﬂmaﬁﬂﬁﬁﬂtm%
 (a) W@ -
(b) T EW =g
(©) T EE

(d) WTIRT = AT

8. Frifte 8085 wehaelt wwr wwm =
Tt 8w deaw & ey et
3000 MVI A, 45 H
3002 MOV B; A
3003 STC
3004 CMC
3005 RAR
3006 XRA B .

(@ OOH () 45H
{© 67H (d E7H

@

3.

Shadow address will éxist in
(a) absolute decoding
(b) linear decoding

() partial decoding

(d) None of the above

What is the addressing mode used in
instruction MOVC, M ?

(a) Direct = (b) Indirect
() Indexed  (d) Immediate

The comtents of accumulator before
CMA instruction is ASH. Its contents

after instruction is executed is

(a) ASH - () 5AH

(c) AAH d 55H

The flag status that can be set by
direct instruction is

(@ CY by Z

© P @ AC

Microprocessor speed depends on
mainly

(a) = Clock

(b) Data bus width

(c) Address bus width

(d) Size of register

For the 8085 assembly language

program given above, the content of
the accumulator after the execution of

theprogramls
3000 MVIA,45H

3002 MOV B, A

3003 STC

3004 CMC

3005 RAR

3006 XRAB

(a) OOH ®) 45H

{c) 67H . (d) E7H



9.

10.

11.

12.

13,

TRAP % W6y 1§ ®F @ oy Frtiftea
dawliy?

(a) BT o foREE
(b) wE T TS O ford ¥
() % T T o RS ¥

(d) T® T THERGE T oEe e
TEHE | '

S, A S, it 9t Reaftr T foiet &
o war il ¢

(a) 00 ®) o1

© 10 d@ 1

Freifea 8085 srRwit & Brafaft w
o And et = eavasar Rl 2

(i) LDA3000H

(i) LXID, FOFIH

(@ ()FR2aia)Fiam?2

®) (i) ¥ fod 4 e (i) Fford 3

() (w3 ArGE)FE3

d) (FWa3aATG)FaRs

8085 WmMRET ¥ __ wfmEmt

Fpw R siwE ek |
(a) 80,246 (b 70,346
© 80,346 (@ 70,246

THaE & 3 B T ¥ g1 4 ¥
o %t ferfe ¥ 8085 wgm WRAW ¥
CMP B d¥a % fisaf=afr & =
T B

(a) We, e

(c) ﬁﬁtﬁ'@?

® e
@ W&

3

10.

11.

12.

13,

2054

Which one of the following statement
is true for TRAP ?

(@ Itis level triggered
(b) Itis negative edge triggered
{c¢) Itis positive edge triggered

(d) Itis both positive edge triggered
and level triggered.

Status of S, and S, pins for memory
write is

(@ 00 (b) o1

) 10 @ 1

How many of memory cycles are

- required to execute the following

BOBS instructions ?

(i) LDA3000H

(ii) LXID, FOFIH wonld be
(a) 2 for (i) and 2 for (ii)

() 4 for (i) and 3 for (i)

(¢) 3for(i) a:_td 3 for (ii)
(d) 3 for (i) and 4 for (ii)

The microprocessor 8085 has ____

basic.instructions and opcodes,
{a) 80,246 (b) 70,346
(d 70,246

(c) 80, 346

In a 8085 microprocessor, the
instruction CMP B has been executed
while the contents of accumulator is
less than that of register B. As a result
carry flag and zero flag will be
respectively

(a) set, reset
(c) reset, reset

(b) reset, set
(d) set, set

P.T.0.
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14,

15.

16.

17,

18,

Fretifieer 8085 ¥ oFR¥it % ¥ @ R
@

MVIA, 82H

ORA A

JP DSPLY

XRA A

DSPLY:OUT PORT 1

HLT
W wiEt
(@) OOH (b) FFH
() 92H (@ 11H

TP & goa= feafaty =t g
e ma e

(a) R Fgem

) TEIRW

(c) ¥l (a) AR (b)

(@ o &

Preitea & diivg % @ T dUeE BN
5

(8) Fge e AR RRY

(b) e i e At

(€) w3 g ok ey

(d) uueEy AR

Ty TN RRTET e 3T R FRet ¥
W & A T R ww

(a) TiforeT R

) s s

© Yawd

(d) st o & quit

T T A ¥ T, O AR Bl
TRt BT W A et ¥ |
(a) WA FERINAE # ad =g
wE -
) "EEMaR AT
(©) ;rmu’lﬂwvovlﬁaﬁw&mm
|

(@) W e e Esa e

@

14,

15.

16.

17.

18.

v 254

Consider the following set of 8085
instructions ’

MVIA, 82H

ORA A

JP DSPLY

XRA A

DSPLY:OUT PORT 1

HLT

The output at PORT 1 is
(a) OOH (b) FFH
() 92H (d. 11H

Which causes the microprocessor to
immediately terminate its present
activity ? '
(a) RESET signal
(b) Interrupt signal
(c) Both(a)& (b)
(d) None of these

Which of the following are the two
main components of the CPU ?

(a) Control Unit and Registers

(») Registers and Main Memory.

(c) Control Unit and ALU.

(d) ALU and Bus.

The secondary storage devices can
only store data, but they cannot
perform

(a) Arithmetic operation

(b) Logic operation

(c) Fetch operation

(d) All of the above

One of the main feature that
distinguishes microprocessor from
micro computer is

(@ words are usually larger in

Microprocessors.

(b) words are shorter in -
MicToprocessor.

{c¢) microprocessor does not contain
I/O devices.

(d) exactly the same as the machine
cycle time.



19, ¥7 Q@ W AR F WS Priifen argie

21.

22.

2.

Frpen Pt IR oE i ?
MVI1A, 00
Loop INR A
INZ loop
(a) 00

(c) 255

(b) 01
d) 256

froifen ® feafaft ¥ 90 A ol
S ysrRe e
MV1B, 8C

MV1A,7E

ADDB

"HLT

(a) OAH s ¥ wmITH |
(b) OAH ¥l & wh frdz ¥
{c) mmwmﬁztu
(d) 6AH 2R &0 i@zt

revifier 3 9 W A SRR e ¥ ?
(a) (99.75),,=1100011.11,

®) (1331)g=1011011001,

(©) (6DA)4= 11011011010,

@) (704)5=(614)g

S A = 56, B = 76, & SUB B &«
¥ frara % SReR A H w e ?

(a) 20
(b) EO

) 25 :
(@ I e

freife # ® W T W T R

S W w1 P R e N |
(a) TRU-3WT

() e

(c) 2#®T

(&) wwpfens

”

L))
19.

20.

21.

22.

23.

2054

Number of the times the instruction
sequence below will loop before

coming out of loop is

MV1 A, 00

Loop INR A

INZ loop

(@) 00 ®) 01
(©) 255 @ 256

What will be the contents of A and
carry flag (CY) after the following
has been executed ?

MV1B, 8C

MV1A,TE

ADDB

HLT

(a) OAH and carry flag is set

(b) OAH and carry flag is reset

(c) 6AH and carry flag is set

(d) G6AH and carry flag is reset

Which of the following conversion is
incorrect ? _

(8) (99.75)p = 1100011.11,

() (1331)y= 1011011001,

(c) (6DA),s=1101 1011010,

(@) (704), = (614),

If A = 56 B = 76, then after
execution of instruction SUB B what
will be the content of A 7

(@ 20

() EO

© 25

(d) None of the above

In which of the following code differs
from the preceeding and the
succeeding numbers by a single bit ?
(a) Excess-3code

(b) Hamming code

(c) Gray-code

(d) Alpha-numeric code

P.T.O.
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24,

25.

26.

27.

28.

29.

30.

8085 wEHMIAET o W ¥§ # e
it erft 0

(@ 8 ®) 16
() 20 d 32

At A /O F ey o § wiw i
FHH Mk ?

(a) IOR

(b) IOW

(¢) MEMR
(d) =i (a) 3T (b)

PSW T Content %1 weera & 7
(a TSU%

(b) WY

(c) I €T

(d) ST ¥ & B

RST n e # Beafaft & suoeer

- Rw Ol R E

(a) T ®EE
(b) T wg
(c) amwafae
(d) v wvit

(a) 1001 + 1101 = 10110

(b) 10101 + 10011 = 101000
(¢ 11111+ 11111 = 100000
(d) 11111+10001=110000

mono%ﬂa&mﬂ:&tﬁnmw
T 2

(2) 1110110 (b) 0101110
(c) 0110011  (d) 0100110

TR ¥ Ay & afew e
TR ¥ ?

(a) qftomr saEn

(b) e F YT T

(c) U % v ot Pt wear
(d) witwiry et W |

b1}

25,

26.

27,

28,

29,

30,

2054

What is the width of address bus in
8085 microprocessor ?

(a). B | M) 16

(© 20 @ 32

Which among the following signal is
used in memory mapped I/O ?

(a IOR

®) OW
(c) MEMR
(d) Both(a)& (b)

PSW stands for content of
(a) Accumulator

(b) Flags

(c) Both above

(d) None of the above

The execution of RST n instruction
command the stack pointer to

(a) incremented by two

(b) decremented by two

(¢) remain upeffected

(d) All of the above

Which of the following binary
addition is incotrect ?

(a) 1001+ 1101 =10110

(b) 10101 + 10011 = 101000

(c) 11111+ 11111 = 100000

(d) 11111 + 10001 = 110000

- Which one is the even

hamming code for 0110 data 7
(@ 1110110 (& 0101110
(¢} 0110011 (d 0100110

What is the responsibility of the logical
unit in the CPU of a computer ?

(a) To produce result

(b} To compare numbers

(¢) To control flow of information

(d To do maths works

- ¥
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MICROPROCESSOR
PART-1)

fratfrer g der e | [stftreenT 3% : 70
Time allowed : Three Hours) - [Maximum Marks : 70

W (i) Wy afar v F @ feel ole dr e At
Note : Question No. 1 is compulsory, answer any five questions from the remaining.
(ii)  WeOw 7T & T ST W W O W0 86T BT /
Solve all parts of a question consecutively tbg_ether.
(iti) ww T %) 73 g5 T AT FT |
Start each question on a fresh page.

(iv) S smarat & e gid it Rayfer # st srgary 8t ara & 1
Only English version is valid in case of difference in both the languages.

1. () ReT BT
Explain “Gray-Code”.
(i) ‘P s
‘What is ‘Mnemonics’ 7
(i) weiLaT Od ol e E w amtt?
What is the difference between machine-language & assembly language ?
(iv) R ¥ v amﬁm |

- Explain memory types in brief.
(v) Fivar chgwem-anfen w2
What is instruction-cycle ? (2x5)

2. () Py efend
Convert the following number :
@ (A52)=(.....)q

B G4TA) 6= (o),
©) (65.625),= (...n)y

™ P.T.O.
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() P wEEe
Explain the following :
(a) SR 4 T FOTE T o WEe
Representation of positive and negative binary number.
(b) UsT&HE2's [&H

1’s complement and 2’s complement | >3, 12)
3. 8085 W w1 fF e ae g v v g v F g |
Draw the 8085 Microprocessor pin configuration and explain it in detail. (12)

4. 8085 AmEMIANT ¥ P %t wiign R agr = freger w0 & e | oRE TER # 3
s i 1)
Classify the 8085 microprocessor instructions and explain it in detail. (Give 3
examples of each type.) 12)

5. () R Y s d et e 9 aeEed |
Explain the Basic concept of memory interfacing.
(i) 8085 IMERINIAWT W 3 ¥ 8 WA RewieT H Gorgen & 2732 EPROM (4096x8) ¥

Y FRYS FR |
Interface the 2732 EPROM (4096x8) with 8085 microprocessor using 3 to 8 line
decoder. (6x2)

6. Tt ot wiran v fefd
Write following assembly language program :
() = Fefe e w I e
Addition of two 8-bit numbers without carry.
() 10 T #} saer ¥ ¥ vl 9 v B SR |
Program to find largest number in an array of 10 data. 62)

7. A (gt orem o TE sliveie W TE GRS ST ST | |
Draw and explain the timing diagram of memory Write cycle & Opcode fetch cycle. (12)

8. e & feedf gt o ifirer Reofordt Rl
Write short notes on any two of the following :
() s % Afefes o
Historical development of microprocessor
(i) wwE T
Stack & Subroutine
(iii) 8 bit AEREINGT Wt Tang
Limitations of 8 bit microprocessor (6x2)



